B3 TEANEAR=YDEMANR IV P URERE

SMTESHA3 1A

WLDDRAEAR—Y & —

#A%5F BT-A-1

#eEE BT-A-2

#A4%5 BT-A-3

WY =27 2 — 1 #EVa=7B | 7V JBC 2 — 1 BERYVa=TA | RENY227 2 — 1 BERYV2=TA
A BN 9 15- 7 0 it OB E | B OEST 9 15- 6 0 A BE | a8 BE 9 15- 9 0 AR Rk
= M A 15- 2 Mt BEFE | mkn KRN 15- 7 mE OBE | B O 15- 7 (=2
wEOEE 2| |o ML R | mnb w0 |2 Wik #i | Re w2 ) |0 W H
o K 5-15 S OFE | ME A 9 15- 8 0 A MK | R E K N 5-15 9 A K
R % 11-15 B ke | TR AR 15- 4 HHE EH R % 8-15 HH =EAH
#AES BT-A-4 HAES BT-A-5 HEER BT-A-6
7 JBC 2 — 1 £lEV2=78 | W¥MY2z27 2 — 1 ¥7V]BC | ERVa=7A 2 — 1 £EVa=7B
HeER HE (o) B fe | omm R (M) E BER | abR ik [T, B EE
Bl 2 7-15 RhmR  BEWE | = WA 15-13 M AN | FKHE EH 14-15 B Fndd
i A 2| 0 o mmp s | R W 2| o Bl A | AR mE 2| Clo Mk dEn
L 7SS 9 15- 5 0 O E | ORE K 0 6-15 o LA T 2 I I VNI 3 5 15- 5 0 FHR Bif#E
EAs RER T 15— 4 RhemR  BEWE | b E 3% 10-15 R FE | EHF OBE 15-11 Fitiesg  BE
#AEH BT-B-1 #EEF BT-B-2 Bk #Aafs BT-B-3
£EVa=7A 3 — 0 EfRV2zTB | #WYaz=7 3 — 0 F/%V2=7 | #lEVaz7A 3 — 0 Brfivazy
MR R 9 15- 4 0 AL EER | AT AR 9 15- 0 =B | MR K 5 15-12 0 ;oK
RHmE  BEFE T\ 15- 4 HFIN BB | R s 15- 0 M OEM | &R KE 15-13 KA HAE
_ _ 9-15
gft i 2| |o R ki | dgF fer 2| [0 BEFOBEA | ML R 258 |1 mR %E
15- 5
S BE 9 15- 2 0 #re B | ET R 9 15- 0 LB OBEA | 4H BE 9 15- 8 e =%
EWE OBREE | 15- 3 KV ¥EHE | E W A 15- 0 Y7 BOFR | WA BRhE 15- 6 ¥ AL
#eEs BT-B-4 . #aET BT-B-5 #eE5 BT-B-6 .
ERYVa2z7B 3 — 0 F/)%Vaz7 | Bxriivaz? 2 — 1 #WHYa=7 iNEYV2z7A 3 — 0 F/)&Vaz7
ENBA (1s0) SR | sk B (170 AT AR | R EE [1-0) # E
BER CHIE T 150 MoOEM | AR BB | s TR T | mWE BEEE T 15- 0 Mo OE M
A s 2| o kB BEA | kR ki 2| (o moF s | AR k2| [0 REFOMEA
e B 9 15- 0 0 kB BN | HE 2 N 5-15 B & OET O FR | MMER TR 9 15- 0 0 LB BEA
Ko vERE | 15- 0 PFE EFER | N B4 8-15 EW & | 5 BE 15- 0 PrE  EHN




F3 TEANBEAR=YDEHNF I PO RHAR

SMTESHA3 1A

WLDDRAEAR—Y & —

#4%5 BT-B-8

#4%5 BT-B-9

=959
W=7 3 — BElYa2=7B Brifiva=7 3 — 0 F)&Vaz7 ENEV2z7A 3 — 0 HWHY2=7
AT AR [15 6] Nl sk | BRmOAST (15o0) o GEA | AE KA (1507 KT AR
BT R 15- 3 HI BA | AH OO 15- 0 MO OEA| EAE R 15- 8 WET &R
o @ 2| o i s | sk F 2| [0 kB omEA | &t &E 2| 0 o B ks
WA EE f15013) TR O | AR BA (15 0) BB OBEA | AdF WIT (154 Bl HE
Wil K& 15-12 K ¥EE | R 2 15- 0 PrE B | & BifE 15- 8 E ¥ A
#A%% BT-B-10 HAEEE BT-1 KAET BT-2
Brifivaz7 3 — 0 ERVa2=7TB WHITY 227 2 — 1 Hxfivaz7 | £lEV2=7A 2 — 0 %7V ]BC
ok F (5] bl | R SE S gE (s PEROKE | AJF B [ ok e
KE  EKE 15- 3 HIBA | R 5 9-15 P OEA | EME e 15- 6 IR AE
w2 o kW o | wm @R 2| [0 #k F | &R OEE 2 ) |0 WM A
BRE ST (158 R O | R WA (155 KA KIS | MR (100 i A
P B Sl wE OB | % R Tl mR 2| A& B |7 Bl 2
HAES BT-3
EEVa=7A 2 — 1 A#ENY2=7
A3 wmE (PP mm ER
e N R
M B o |2 ®A WA
BE KA [150) K
Baf f&IE 7| 15- 8 R %




B3 TEANEAR=YDEMANR IV P URERE

SMTESHA3 1A

WLDDRAEAR—Y & —

RAEE GT-A-1

#RES GT-A-2

RA%E GT-A-3

A A
7V IBC 2 — 1 #ENEVaz7C | ¥7v]JBC 3 — 0 4fiffvvebnd | ElEVaz=7C 3 — 0 AfFfvve i
gy e 152 RS AL BOR SO (150 1) PR A | B AL 154 ) T TR
- EFE 15- 0 AR 2HE | il K 15- 3 AR R | BRK AE 15- 6 il B
por e 2 U Tlo e w | =% %k 2| o mA g | W o2 |0 mAk @R
B bpy () A b | EER weR (150) MW RE | A OF B [1509) B
N IR o-15)  Ab FEE | il HE Tlis-5 ) A BB | KRAR R Tl15-9 ) AR AR
RAEE GT-B-1 RAEE GT-B-2 #A4E5 GT-B-3
F)RV2z7 3 — 0 ERYVa2zTB | #va=7 3 — 0 NENYV2=7B | F/%V2=7 3 — 0 NENY2=78
B bnk 5 15- 7 0 R A AT #¥ 5 15- 2 0 B s [ SYRAN 5 15-10 0 He A&
MR FEE 7| 15- 2 WA Eme | WERE  EmE 15- 5 er R A | s FE 15- 4 xR £
KoM sE 2| Clo b zeE | Wi Onv 2| o AW @R | RW R 2| |0 i wok
b m®x 9 15- 4 0 AN RS | AR EBE 5 15- 7 APy ZEE | i B8 3K 9 15— 4 APy ERIE
EBE HML 15- 3 K% FHW | A A K e 15-12 INER S ERIE | KR SR 15- 8 INER ke
#A%H GT-B-4 HAEE GT-B-5 #2%F GT-B-6
®WHY2=7 3 — 0 ERY2z7B | #HY2=7 2 — 1 F/%Va2=7 | BkY2=7B 3 — 0 KENY=2=7B
WERE  2Eme 9 15- 4 0 JIIE f | AR BE 0 5-15 5 it OIRE | WE EA 15-13 0 e /&
FERE O 15- 6 R kid | A AR R e 4-15 LB FnZE | AR Eme 15-10 erxk =&
KT wH 2| o ki A | AT w8 2 Clo @ bae | ik e 2|l Clo ks
USTI 7 SN BLRR IR S S LIS (s IR R BT O IR T = -
BB -8 ) Al EEE | i o0 S| o) R R | RE O BA | e Ak RiE
#eEs 6T-C-1 #eEs 6T-C-2 #eEs GT-C-3
BRYazTA 3 — 0 EEVaz7B | Beiivaz7A 3 — O WEUV2z7A | Brifivaz7A 3 — 0 @EhvVazTA
AL LT OKE MERE | IR KR (1506  faak MR | At e (R K% 5
WA 5EE “|iao) BE AmE | BE G Tlsoe) m B | EE s |, ) Ak EH
e mat 2l Clo e B | me w2 Clo ek W | R ST 2| [0 A B
A BEH 9 15-10 | | EA B N 15- 2 N HE <DHH | EBA EiE B 15- 9 B AR B
N A& 15- 7 TH WHE | PN e 15- 7 A & | O TE 15- 5 Jive A&




B3 TEANEAR=YDEMANR IV P URERE

SMTESHA3 1A

WLDDRAEAR—Y & —

#eEE GT-C-4

#A4%E GT-C-5

RA%E GT-C—6

£EV2=78 3 — O PEMV2=7A | BliVa=T7A 3 — O KEIVa=7A | Heifivaz7A 3 — O ENEVa=TB
WEOBAE () xR M| A 3 152 fEak M| IR KT (1573 OKIE AR
R EE T o) mE gk | A sEA Slss 0 m Mo | s sk -3 )0 R OBEE
wie i 2| o ek W | A B 2| o kB mEE | bl gk 2| Clo kfE @
RE RWE (07 0) KB OBEEA | bR B (20 BE <an | B ERE [150) BB RRE
| B gy ) BB AR | AR T 5,) xR B | PR kB Tlis-s ) im B
#eEF GT-D-1 #EER GT-D-2 #AEF GT-D-3
ENEY==7A 3 — O Hxiivaz7B | ENEV2=7A 3 — O ®EWAFI/bY | #BHARIV/bY 2 — 1 Hxfivaz7B
B (158 ER SR | de gl [ RE S SH | KGE SRR (15000 B sk i
d me R (50 ) BEAY Eme | - BeR T 1513 ) EER OB | HEE O OEA T -0 B FA
w2 loom m | g s 2| (o At R | KB M 2 o pil i
e mh (s O RRE ARk | PEOBSRLIS (20 eS| sk giE (0] BUA ek
KA BE Tlse2) BE OEHT | BA W T\ 5] WA B | MRABX s ) BE OERT
HABH GT-1 HOEH GT-2 HaEHE GT-3
¥7V]BC 2 — 0 HBEOARIVEY | BBVazTA 2 — 1 BRY2=7 | Bafivaz7A 2 — 0 F/5Vaz7
7R %ilrgglrmi KA | GEAR B f15m 5 0 AR BE | kil dngx 156 B D
wal M | g ) EEE A | I Ak Tls2 ) AP ARER e | B s T o) iR BEE
910
BoE S 2| o Ak e | AR B o] |2 AT g | MR JorE 2| Clo ik MR
g e (150 WM | R % S f15s) dEE ek | R REE [ 91 ) RBF K
=% KFE [ 15-2 KE O3 | AR &H 15-11 | R OO0 | SR AKER g R
HAES GT-4 REES GT-5 REEH GT-6
£EVa=7A 2 — O FMEVa=7C | 7V ]JBC 3 — 0 AEhVa=TA | Braifivaz7A 2 — 1 £lEVac7A
KA B 156 A dF B | CEAR sk (D) SR B | IR SR (15 7) At b A
WA et Tl ) dn FEED | o M T sos) A Z K| B BB -9 b e
foomoA 2l Clom A | Bk s 2| Clo ok GER | W TE O | |2 prEC S
gl SR (108 ) TR S| ek s I AR | R AR 1505 0 T BRI
| A OKE | 2% £E s dk BE | PBE e T -5 ) KAR BR




F3THAGNEAR=YDERANRIV FPORERE SMTESAS1IAE DWLIDRAEAR—=Y RV —

HAET CT—7 AE%ES GT3
Brifiya=7A 2 — 1 +®7v]BC | B4#iv2=7B 3 — 0 4&Rttvyeiid
PEE T [ 10-15 (U] S o A < ) 16- 6 AR 3

e sz O s )? == oEm | me w4 2ls)0 Ak R

it w2 lo gk zem | s e 2| o mR E®

15-11 15— 4

DR T (1506 | EA WEA | HHE O KRR [ 15 9| Ml MnfE
H

. = e < 2 0
s &R T 157 & M| BE EHT | 15-14 H o T




